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M.A. (FINAL) EXAMINATION, 2019
ECONOMICS
Paper - I
INDIAN ECONOMIC POLICY
Time: Three Hours

Maximum Marks: 100

PART - A (578 — 3]) [Marks: 20]
Answer all questions (50 words each).

All questions carry equal marks.

vt goT Jf3ard 8/ g FIT BT GV 50 Tl @ 3B T &/
vt got @ 3ip wHT &

PART - B (5vs — §) [Marks: 50]
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
IR 31 YH—9F J97 gd §Y &l yid I B/
TR% FIT T IV 250 %] H 3EF T &/
T 7o & S T &/

PART - C (Gvs — @) [Marks: 30]
Answer any two questions (300 words each).

All questions carry equal marks.

PIS g FoT PIOTT | Jdb T BT IV 300 Isq) & 3fFE 7 8/
v gl & 3 THIT 8/
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PART - A / EUs — 3

Q.1 Answer the following questions -

fa=ferRad ueal & SR difve —

(1)

(ii)

(iii)

(iv)

v)

(vi)

Define sustainable development.

GRer fer 1 R BTG |

Briefly mention indicators included in the construction of Human Development
Index (HDI).

AMG faer adie & FHor § affaferd fdby 7T ! o [erg H garsy |

State the rationale for planning in India.

IRA § RIS & iy &1 9a1sv |

Write two features of Health Care Policy of India.
IRA ¥ W@Rey AT @ &1 faRivarsil &I 9d1gy |
Define Co-operative Farming.

FEPT PR BT gRAIRT AT |

What do you mean by food security?

QTe] JReTT 37T FIT A 82

(vil) What do you mean by current account deficit?

e WA & I | MY FIT qHS &7

(viii) What do you understand by capital market?

(ix)

(x)
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IOl IT9TR < 31T 7 A &2

State the main objectives of World Trade Organization (WTO).

faeq UR Hred (WTO) & T Ieed aarsy |

What do you understand by liberalised economy?

IERIPd fefael A YD FIT I 87
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Q.2

Q3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

PART -B / 9Us — §
UNIT -1/ s1s —1

Define poverty. What are the reasons for the persistence of poverty in India?
TR BT gRATNT BIRNTY | 9RT H TR & 99 84 & 9T BRI 87

Write a note on urbanisation and state of civic amenities in India.

IRA H AERIHROT 3R ARTRS Gfaermail & Reifd iR g fewoft forRay |
UNIT -I1/ 5&15 — 11

Explain the role of NGO’s (Non - Government Organisation) in the development

process in India.

IRA ¥ fdrq gfshar § IR e Faedl (NGO’s) BT qAdT TSy |
“Economic development of a country depends on infrastructure.” Explain.
T < BT MF A rgwar iR R var 217 |\Hsigy |

UNIT -I1I / $1s —III

“There is a shortage of agricultural inputs in India.” Do you agree with this? In future

suggest measures for increasing the supply of agricultural inputs.
"R P9 @ Ty BT AN BT AT M1a & | FI7 Y $9 A 9 98Ad of WA
# PTd ATl Bl el g8 & forw gema A |
Explain the major characteristics of the present industrial policy of India.
IRA & gIAE e a1 T fIemarng qamsy |
UNIT -1V / s&Tg =1V
Write a note on the need of financial sector reforms in India.
IRA H < &3 gurRl 31 aegdhdl R U feuoft foriay |
Critically analyse the working of SEBI in India.
TR ¥ A4 (SEBI) & ®RIGAM B MAIATHD THIET HIFRTT |

UNIT-V/ &g =V

Q.10 What changes in exports have taken place since the economic reforms began in India?

IRA H 9 ¥ 3N JuRl o1 Ivera gs, afd # w1 agerma gy 27

Q.11 Analyse the role of Foreign Capital in economic development of the country.

<9 & e ey # faesl Yol & AnTer @1 g i |
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PART-C / Gvs — 9§

Q.12 Explain the broad demographic features of India as per the latest census.

AT SIRTOET & TR ARA &1 Y SHifhd R faRivdiel o1 FHsisy |

Q.13 “During planned period, significant quantitative development of education and health
has taken place in the country, but qualitative development has lagged behind.” Analyse
it.
IS H R 7 w@Ren &1 Sedd [AeN gl 7, dfd Jones et &1 &9 <8
g 1" fagae i |

Q.14 Evaluate the development of agriculture in India since adoption of new agriculture

strategy.
T S fErT @ IR oM & ueard IRA # g S et &1 qeaied HIg |
Q.15 Examine the monetary policy adopted by Reserve Bank of India in the post reform
period.
Mfdfer GUR YRS B & U ARG Rofd 9 gRT JUART WA Aifaes =i a1 aRieror
PIFTT |
Q.16 Explain in detail the impact of World Trade Organisation (WTO) on the different sectors

of the economy.

feg IR HTed &1 AR & A= &3 R gg+ drel YHTdi &l IR I Iae=T |
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